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 BZYCT-135  

BACHELOR OF SCIENCE (GENERAL) 

(BSCG)  

Term-End Examination 

June, 2022 

 

BZYCT-135 : PHYSIOLOGY  

   AND BIOCHEMISTRY 

Time : 2 hours Maximum Marks : 50 

Note : Question no. 1 is compulsory. Attempt any  

four questions from Questions no. 2 to 7. 

 

1. (a) Match the following terms : 51=5  

 Column I  Column II 

(i) Vitamin K (A) Emulsification of fats 

(ii) Pentose (B) Insects 

(iii) SA node (C) Blood clotting 

(iv) Malpighian 

tubule 

(D) Ribose 

(v) Gall bladder (E) Origin of heart beat 
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(b) Define the following terms : 51=5 

(i) Pheromone 

(ii) Residual volume 

(iii) Antioxidant  

(iv) Essential amino acids  

(v) Osmoregulation  

2. Write short notes on the following : 25=10 

(a) Bohr’s effect 

(b) Urea cycle 

3. Differentiate between the following pairs of  

terms : 25=10 

(a) Allosteric enzymes and Isoenzymes  

(b) Glycogenesis and Glycogenolysis 

4. (a) Explain the composition of blood. 5 

(b) Which hormones are secreted by the 

pancreas ? Explain their functions.  5 

5. (a) Explain the significance of Km and Vmax in 

enzyme catalysed reactions. 5 

(b) Explain  oxidation of fatty acids.  5 
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6. (a) Discuss the functions of Electron Transport 

System-I (ETS-I). 5 

(b) Explain the role of Loop of Henle in urine 

formation.  5 

7. Briefly describe the following :  25=10 

(a) Fat soluble vitamins 

(b) Free radicals and their sources in the body  
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 ~r.µOoS>.dmB©.gr.Q>r.-135  

{dkmZ ñZmVH$ (gm_mÝ`) 
(~r.Eg.gr.Or.) 

gÌm§V narjm 

OyZ,  2022 

 

~r.µOoS>.dmB©.gr.Q>r.-135 : eara{H«$`m{dkmZ  
Am¡a O¡d-agm`Z 

g_` : 2 KÊQ>o  A{YH$V_ A§H$ : 50 

ZmoQ> :  àíZ g§. 1 A{Zdm`© h¡ & àíZ g§. 2 go 7 _| go {H$Ýht  
Mma àíZm| Ho$ CÎma Xr{OE & 

 

1. (H$) {ZåZ{b{IV nXm| H$m {_bmZ H$s{OE :  51=5 

 H$m°b_  I  H$m°b_  II 

(i) {dQ>m{_Z K (A) dgm H$m nm`grH$aU 

(ii) noÝQ>moµO (B) H$sQ> 

(iii) SA ZmoS> (C) aº$ ñH§$XZ 

(iv) _¡ënrJr Z{bH$m (D) amB~mog 

(v) {nÎmme` (E) öX` ñn§X H$m CX²J_ 



BZYCT-135 5   P.T.O. 

(I) {ZåZ{b{IV nXm| H$mo n[a^m{fV H$s{OE : 51=5 

(i) \o$amo_moZ 

(ii) Ad{eîQ> Am`VZ 

(iii) à{V-Am°ŠgrH$maH$ 

(iv) A{Zdm`© Eo_rZmo Aåb 

(v) namgaU{Z`_Z  

2. {ZåZ{b{IV na g§{jßV {Q>ßn{U`m± {b{IE :  25=10 

(H$) ~moh²a à^md 

(I) `y[a`m MH«$ 

3. {ZåZ{b{IV eãX-`w½_m| _| A§Va ñnîQ> H$s{OE : 25=10 

(H$) EobmoñQ>o[aH$ EÝµOmB_ VWm g_EÝµOmB_ 

(I) ½bmBH$moOoZo{gg Am¡a ½bmBH$moOoZmo{b{gg 

4. (H$) aº$ Ho$ g§KQ>Z H$s ì`m»`m H$s{OE & 5 

(I) A½Ý`me` go H$m¡Z-go hm°_m}Z òm{dV hmoVo h¢ ? CZHo$ 

H$m`© g_PmBE & 5 

5. (H$) EÝµOmB_ CËào[aV A{^{H«$`mAm| _| Km Am¡a Vmax Ho$ 

_hÎd H$s ì`m»`m H$s{OE &  5 

(I) dgm Aåbm| _|  Am°ŠgrH$aU H$s ì`m»`m H$s{OE &  5 
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6. (H$) BboŠQ>́m°Z n[adhZ V§Ì-I (ETS-I) Ho$ H$m`m] H$s MMm© 

H$s{OE &  5 

(I) hoÝbo Ho$ byn H$s _yÌ {Z_m©U _| ^y{_H$m H$s ì`m»`m 

H$s{OE &  5 

7. {ZåZ{b{IV H$m g§jon _| dU©Z H$s{OE :  25=10 

(H$) dgm _| KwbZerb {dQ>m{_Z 

(I) _wº$ _ybH$ Am¡a eara _| CZHo$ òmoV  

 


